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September 2020: Maths Puzzle 

 Can you work out what the number relates to using the clue?   

Here is an example 8 S on an O = 8 sides on an Octagon  

12 M in a Y 60 M in an H 

180° in a T A ’P’ is used to measure A 

6 S on a H 1000 ml in a L 

½, 2/4 and 3/6 are all EF 7 D in a week 

30 D have S,A,J, M PL’s never meet 

5,10,15,20 are M of F An ET had 3 EA 

2,3,5 are the first 3 PNs 1,2,3,4,6,12 are all F of 12. 

100 R in a C 90° in a RA 

1000 Kg in one T There are 4 RA  in a R 

36 is a SN 66 is not a PN 

 

 

 


